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The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

TeRIGT SQ SERIES el f&iRer

Answer as directed : ' I1x10=10
o sepfs e fumt ¢

(a) National Innovation Foundation was
~ established in the year

(Fill in the blank)
| FI5E SIS TGS —— by eifefe 33 |

(AT I 717 1)

(b) What is the full form of NITI Aayog ?
NITI =tcsE s wet & 2
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% of business
(¢) Name the institution that offers Shishi A

. — This
Kishor / Tarun Loan. ‘ 4
ﬁ@/ﬁﬁcrna/*mwwmm\o G
S forait | : ‘

(d) Name the Act / Rule under which a sol
trading business is required to be registere

Aﬂﬁmmmﬂﬁm@ﬁm 3
i wHTe e oz

(¢) The most complex form of mode
organisational design is —

, wqﬁam\mwm@ma
TH — |

6)) Matrix organisation
SR 9o

(1) Network organisation
- Eiferl eI
P :
(iii) Learning organisation
T Rstde
(iv) Horizontal organisation
NG A5
~(Choose the correct answer)

(va T Ay Tferear)

[Turn over
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(b) North-East Vcnture Fund
IR cowE e

ture Capital in
) 4
-
3 e = &5

(¢) Quality Control
elste fge

(d) Business Format Franchis_ing

TR SR SIRe 79 wisfepe

(e) Start up.
B5 = |

ieurship.

1 dare

3. Answer any four of the following questions
S5x4=2|

Wﬁmmﬁﬁwhﬁm

(1) State five features of learning orgamsatlo

R sicetom Si551 Cafigy e 'g

(ii) Mention five leading limitations of Weber"
Deductive Theory on Industrial locatlon

ﬁﬁﬁ“ﬁﬁﬁéfL5??“"\8CQQF$§Q$m?ﬂ§ﬁ
AN SISl S w4 | . .

- (1ii) State the role of 11E in the development o
entrepreneurship in North-East India,

@“?VL?I_W“WW—TWIIE%\E
TS T4 |

hy such
economic

‘ : [Turn over
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t programmes
) be overcome
1?7 5+5=10
& o » Ow

5. What are the basic considerations involved
setting up a new enterprise ? How ease of do
business can promote faster rate
industrialisation ? : B e

B e I o Sy MU

fmpnz & & 9WWE®W°T&’@WT
feme 27 @it sifeTs s oim e

Or/ =iz«

- What is productmty ? How the level
productivity in Indian industries has been rais
through technological and operational process
India ? , 24543=
Teofmloel T @IGT 7 SRR o

- PEIT @ et RErTe Beotmiis
(TP I 9 2T ¢ |

6. Name five remarkable innovative entrepreneu

of modern 1India and state in brief the
achlevements 1

wqﬁaﬂmvﬁm@mﬁmmﬁwmﬁa )
o1l I BT remmﬁa«ﬁvwn

Or / <13

"Entrepreneurs are made not born." Justify th
above statement with acceptable arguments e

SIS TSN I TA— S T2 | Al
s tice O [gfen (difemsel Fstd 11
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